Hello Grade 9 students
Its me its you its us. Gimme a minute while I take attendance and then we’ll do three week weekend highlights.
This is an overview of your work for the week. When you are done, if able, upload pictures of your work to the assignment in Edsby called Week 1 Population.
1. Read and take notes on key terms and ideas from the pages from the textbook attached below (pp 168-173). This will remind you of the things we were talking about in our Demographics unit. 
2. Use the data from Figure 15-9 from page 176 (also attached below) and complete the population pyramid for Canada in 1881 on the provided graph sheet. If you cannot print the sheet, you can just recreate it by hand with a ruler on a piece of lined paper. 
3. There are two handouts attached – one on Population Distribution and one on Population Distribution. Complete them both – right in the document or print out and by hand. 
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[image: ] [image: ]PART 2: Complete the population pyramid for 1881 
Population Distribution
[image: ]The dots represent people.











POPULATIONS DISTRUBTION describes where people live. 
There are THREE major characters of Canadian population distribution:
1. _________________ % of Canadians who live within 600km of the US border.
2. Majority of Canadians live within ____________________% of Canada’s area.
3. _____________% of Canadians live in urban areas.

Look up the information and fill in the blanks. Try to find the most recent data possible. 

The following patterns identify different types of settlement patterns. This refers tot eh ways people were organized during settlement of Indigenous lands. Settlement patterns depended on resource management, the natural landscape, and cultural groups maintain their traditional practices. ALL of these patterns can be found in different parts of Canada. You can read more about Settlement Patterns here. 
Match the term to the correct settle ment pattern. 
1. [image: ][image: ][image: ]Concentrated		
2. Evenly distributed		
3. Unevenly distributed. 

Identify an example of each settlement pattern. 
a. Boreal Shield
b. Plains
c. [bookmark: _GoBack]Edmonton

Population Density

Population Density is made up of two variables:
1. The number of people living in a given area
2. The size of the area in square kilometres
Population density is stated as “people per square kilometre” and written as “people/km2
The formula for determining population density is:
population density  = population  / area sq.km. 

Example:
Each square represents the area of 1 sq.km. The number inside the square is the number of people living in that 1 km2
	10
	0
	2
	1

	5
	3
	8
	20

	0
	15
	6
	26


	Total area = 4 squares along the top x 3 squares along the side = 4 x 3 = 12 km2
	Population = 10 + 2+ 1 + 5 + 3 + 8 + 20 + 15 + 6 + 26 = 96 people
	Population Density = People / Area = 96 / 12 = 8 people/km2.

You try this one:  **make sure you put the appropriate info after each number (km2, people, or people/ km2.
	0
	4
	0
	3
	0
	2
	1
	0

	2
	0
	0
	1
	5
	0
	0
	0


	Total Area = _______________________________________
	Population = _______________________________________
								Population Density = ______________________________________

Now let’s calculate Canada’s population density using the information you can find here (or Google if that link does not open for you):
Total area: _________________________________________________________________________
Population as of 2020: ________________________________________________________________
Population density: __________________________________________________________________

Where did you get your information? ___________________________________________________________________
The population density that you calculated for Canada is very misleading for people who have little knowledge about Canada’s geography and population distribution. Why? What would people assume when they see Canada’s population density?
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Using resources available to you, identify the five countries with HIGHEST population density and the five countries with the LOWEST population density. 
	HIGHEST
	LOWEST

	COUNTRY
	POP DENSITY
	COUNTRY
	POP DENSITY
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¥ Fig. 159 Canada’s population in the year 1881

Age Male Female
70+ 26% 24%
65-69 1.7% 15%
60-64 2.4% bk
55-59 2.7% 25%
50-54 3.3% 33%
45-49 4.0% 3.9%
40-44 45% 45%
35-39 5.3% sl
30-34 6.1% bk
25-29 27% e
20-24 9.8% 10.3%
15-19 11.0% 114%
10-14 12.0% 11.8%
e 130% 13.0%

5 13.9% 138%
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the geography of Canada and other countries. In the section that follows,
be sure that you understand each idea that is presented before moving
on to the one that follows.

Use Rates, Not Numbers

We have seen that in Canada about 1070 children are born each day. We can

compare these numbers to those in Russia (where about 3600 children are

born) and the Aftican country of Togo (with about 600 births). Or can we?

Direct comparisons are somewhat pointless since the populations of these

countries vary enormously (Canada has about 30 million people, Russia
about 148 million, and Togo about 5 million). What really matters is not
the number of births, but the relationship between the number of births
and the size of the population. A measurerent called the birth rate demon-
strates this (Fig. 15-2)- A similar measure can be calculated for deaths: the
death rate. In Canada’ case, the death rate is about 7 per year for each

1000 people.

by OF POPULA

< Fig.151

Number of Population Birth Rate
Births per Year {Births per
1000 People)
Canada 390000 30000 000 13
Russia 1329000 147700 000 9
T 221000 4700000 &

el - CamSea

Canada's pop-

increase has two parts:

lation
BRI 0 s (e
e births than deaths) an:
et mig

move to Cana
Canada).

ation (more people
ida than leave

< Fig. 152 A country’s
birth rate is calculated by
dividing the number of births
in one year by the popula-
tion and then multiplying
the result by 1000, e.g.,

390 000 &
30 000 oo * 100 = 13
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STUDY. GUIDE

sy the end of this chapter, you will be able to: :

. understand the concept of dependency
Joad and how it affects a society

- predict the furure of Canada’ population
by examining population trends

identify and calculate changes ina
 country’s population growth

interpret and use population pyramids

understand the characteristics of Canada’s

population and how and why it is changing

I the previous unit, you learned about Canada’s remarkable phys-
ical geography. In this unit, you will learn about Canada’s people:
who they are, how they got here, and where and how they live, Consider
2 few numbers. On an average day, about 1070 babies are born in
Canada, and 575 people dic. As well, about 610 people immigrate to
Canada and 135 emigrate from Canada to live elsewhere. As a result,
at the end of the day, there are 970 more people living in Canada than
there were at the beginning of the day (Fig. 15-1). In this chapter, you
will discover how Canada’s population is changing and what these
changes mean for Canadians.

CHANGING POPULATIONS

In the introduction to this chapter, we saw that a simple calculation can be
done to determine the population growth of a country. This was

introduction to a fascinating subject called demography, which R
simplst erms, the study of human populations.You wilfind that kol

édae of demogzaphy vill prove very useful in helping you to understand

1070 - 575+ 610 - 135 = 970

| ]

To learn more abiout world
population growth, check
Www.popexpo.net/english.html
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is the power of €empounding, since growth occurs

o aken place. The impact of

sraphy is not Quite as dramatic, but it s still of enor-

eoretically have 16 million descendants today. This 16 million figure is based

i on 30-year generations and the
i i 2 ? > birth of four children to each

ding. Fig. 15-3 shows the impact of compounding  gescendant.

% S ia, and Togo for the next 100 years,
assumm,g that thtﬂr population growth rates remain as they are today.
Canada’s population wi grow slowly to about 54 million, but look at
what happens to the populations of Russia and Togo. Russia’s population  Itis very likely that these rates

s to o 9 illi 5% 5 B will change for reasons that
drop nly 90 million (about two-thirds of today’s population) and S dcever e e

Togo’s population skyrockets to almost 200 million! few pages.
A simple way to think about the impact of population growth is to

consider what is called the doubling time for the population. As you

might expect by the name, this is simply how long it would take for a

country’s population to double at the country’s current population growth

rate.You could calculate it with some fancy mathematics or with a spread-

sheet, but it can be estimated very easily using something called the

< Fig. 15-3 Differences among
population growth rates
appear very small, but
compounding allows huge
increases or decreases in popu-
lation to occur.
Note that these are
projected figures for the popu-
lation.
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If you always think about rates rather than about numbers, you will
find it much easier to make comparisons between countries and between
different periods in a country’s history.

Rates That Determine Changes

We can combine the birth rate and death rate into a very useful measure-
ment called the natural increase rate. The natural increase rate can be
calculated very simply, as shown in the following example of Canada:

\

natural increase rate = birth rate - death rate
E =13-7
. =6

Canada’s natural increase rate is therefore 6/1000. Natural increase rates ;2;2:‘::;2/ 1000 kw4
are often given as percentages, which in this case would be 0.6%. In 6 1000=0.006
contrast, Togo has a natural increase rate of 3.6% while Russia has an 01006>:100=0.5%
increase of -0.5%. Natural increase is a very important concept since, in  Whatwould this negative
most countries, it is the most important reason why a country’s popula-  néturalincrease in Russia
tion increases (or decreases). preat

The second reason why a country’s population changes, is that people
either immigrate to that country or emigrate to live elsewhere. In a
similar manner to birth and death rates, you can calculate a country’s
immigration rate, which for Canada is 7/1000 (0.7%), and emigration
rate,which is 2/1000 (0.2%) for Canada. If we combine these two, we get
the net migration rate for Canada:

net migration rate = immigration rate - emigration rate
=7-2
=5/1000 (or 0.5%)

A final useful measurement is a country’s population growth rate,
which combines both natural increase and net migration.

population growth rate = natural increase rate + net migration rate =
=6+5
=11/1000 (or 1.1%)

As we shall see, the rate at which a country’s population is growing
(or declining) has-an enormous influence on the lives of people. If a
country’s population is growing very rapidly, there may be a serious
problem providing enough housing, education, healthcare, and jobs for
everyone. On the other hand, if a country has a declining population,
there may be a shortage of workers (and customers) to meet the needs O‘f
the country’s businesses.
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Rule of 70 — dividing 70 by the population growth rate to estimate how
many years it will take. For example, with Canada’s 1.1% rate, 0the po[z}l:—
Jation will double in about 64 years (70 1.1). With Togo’s 3.6% rate, the

oubles in less than 20 years. To understand the significance

population de Ve Canadi 0

of this, picture how hard it would be for a rich country Ii i
provide all of the food, housing, healthcare, education, and other items
needed, by twice as many people, every 20 years. For a poor country
like Togo, the task is almost impossible.

Different Ages — Different Roles

At each stage of our lives, we play different roles. Demographers identify
three important stages:

1. Children (up to age 15)

2. Working adults (ages 16 to 64)

3. Older adults (65 and over)

The assumption is that children and older adults are not working
and must be supported by the working population. The proportion of the
population that must be supported is called the dependency load. A
high dependency load, of either children or older people, tends to put
a great deal of pressure on the society to provide education, housing,
health care, old-age homes, and other needs. Canada today has a depen-
dency load of 33% (21% children and 12% older people), while a country
like Niger in north Africa has a dependency load of 52% (49% children
and only 3% older people). You can imagine the difficulty that a country
like Niger would have in trying to support the more than half of its
population that is dependent.

Population Pyramids

If someone asked you to examine the two sets of statistics in Fig. 15-4 and
compare the percentage of people of different ages, you could probably
do it, but it would not be a particularly easy task; you might even miss
some important details. As is often the case with statistical data, it is easier
to understand what is being shown if it can be graphed. The kind of
data we have here is often shown on a special type of graph called a
population pyramid, which is a series of horizontal bar graphs for the
male population placed back-to-back with similar bar graphs for the
f;nmle popularim?, Fig. 15-5 includes population pyramids for the data in
(];;g. 15-4. Population pyramids make jt easier to see things like the depen-
ncy loads of younger and older people.

Togo's natural increase can be

considered its population
growth rate since it has very
little immigration and migration,

1956

Ages Male Female
70+ 47% 50%
65-69 29% 29%
60-64 25%  35%
55-59 30%  4.0%
50-54 45%  45%
45-49 60%  55%
40-44 65%  6.0%
3539 7.0% 75%
30-34 75% 8.0%
25-29 75%  8.0%
20-24 7.0% 71%
1319 72% 13%
10-14 90% 89%
59 113% 112%
0-4 124% 123%
1996

Ages Male Female
70+ 69% 100%
6569 37%  4.0%
60-64 4.1% -42%
5559 45%  45%
50-54 57%  55%
45-49 73%  7.2%
40-44 81%  8.0%
3539 89% 8.8%
30-34 86%  85%
2529 71%  7.0%
20-24 67%  65%
1318 7.1%  65%
1014 72%  63%
59 72%  66%
0-4  69% 64%
_—

AFig. 15-4 This table shows

the percentage of people of
each sex and age group in

Canada for the years 1956

and 1996.




